912

v
Pl
02

2| bk
olo ofo | | |
rio || 22| |
H1 [ H ok [ofo |~
Z |0E |me |m2 | &=
Ho | Jm | 1 o

13 22
ol
bal
o fil:3
Jo|de

>

X &
% AL 2% 100 04

1=

830, 840, 850, #63, ¢80, 8100, #125
140kgf/cr
5kgf/cni

8~100mm/sec

-10~ + 80T
Y=Y AER

it
SD, FA, FB

ol
=

AEA| 29| L

% A8 U3 140kgf/or O &2 22| HHZLIC
x 0125 0| H2iCE HX 7SR, (2A8HU)

% S/W Type(#30~2 1

00) HIZA| (D+AEZ3) R HAE +15 A E

% S/W Type 125 0|4 HZf 7ts 29| 2Y

> FE 4

THCO

KIR|

1=

R U AE23

og

- KT - .
|

A9/x| HAY

ey

2 METYPE

DC24V/AC100

W-Y2C

V-U 1

X ERESETN

i

F FEYA L THCO-LHE-XIX|ZA

EX) THCO-40-FA

» 2= M TYPE

oo Vi —
O \EE=2
N S
“
i Y W
L=/ AU |




ot a3l wrgd stairy THCO AJ2[X

0
I

030~0125

> LR AXE

T~

13
1
1 2 E SM45C 1
2 = Al BC3 or FCD45 1
4 13 EE SCM 1
8 = A SM45C 1
12 o A E BC3 or FCD45 1

» Packing List

(E44:mm)
® ® | ® | @ |
' '
NeR | RETHANE or 1

830 KWS 18 G35 18x26%5 AN120 AN112 QUDA-R30 30%24,5x125
840 KWS 22 G45 22x30%5 G35 AN114 QUDA-R40 40x345%1.25
850 KWS 28 G55 28x35.5%5 G45 AN211 QUDA-R50 50x41x2
863 KWS 35 G70 35%x45x6 G55 P29 QUDA-R63 63x54%2
880 KWS 45 G85 45x55x6 G75 P39 QUDA-R80 80xT71x2
8100 KWS 55 G105 55X65%6 G95 P49 QUDA-R100 100x91x2
8125 KWS 55 G130 55x65%6 G120 P49 QUDA-R125 125x116x2

913

www. TPCpage.co.kr



THCO A|2|=

030~0125

> 7|12& (SDE) ULIAL TYPE

oE A D + STROKE

PCD gF H J + STROKE

T
<

T
Il
I
m
J

% S/W Type(930-0100) HIEN| (D+AE23) X4 WZE +15 A8 (0125 042 29 2F)
X S/W Type 0125 014§ X% 75 29| 22

» Dimension

830 o618 25 | MI2x1.75P 15 54 268 853 27 10 17 PT1/4" | M8x125P 15
gd0 @ 822 10 M16x 2P 20 56 878 263 27 12 17 PTI/4" | M8x125P = 15
950 = 928 | M20x25P @ 24 60 88 873 27 13 20 PT1/4" | MIOx15P | 18
963 } 35 13 M27x 3P 33 67 9108 290 30 13 24 PTI/4" | M12x1.75P ‘ 20
980 = 845 17 | M30x35P | 33 78 9128 2108 34 18 26 PT3/8" M14x 2P 22
100 } 55 25 | Md42x3p 45 80 9158 9132 34 18 28 PT3/8" | MI8x25P ‘ 27
9125 | 855 25 | Md2x3p 45 85 9188 8159 39 18 28 PTI/2" | M20x2.5P 30

914




sor a8l wtg M2y THCO AJ2[X

030~0125

» 7|12& (SDE) ZLtAF TYPE

oE © A D + STROKE
H J+STROKE _ | | o-um
o
T ]
**** ﬂ_*__ | L\___ 1
EL/
=== ==
F—-— ===
E——- ol — —

% S/W Type(930-100) HIEN| (D+AE23) X4 WZE +15 A8 (0125 0142 29 )
X S/W Type 0125 014§ X% 75 29| 22

» Dimension

830 818 25 M16x1.5P 20 54 ‘ 868 853 27 10 17 PT1/4" M8 x1.25P 15
240 822 25 M20 x1.5P 20 56 | 878 863 27 12 17 PT1/4" M8x1,25P 15
850 828 25 M24 x1.5P 25 60 ‘ ?88 873 27 13 20 PT1/4" M10x1.5P 18
863 835 30 M30x1,5P 35 67 { 8108 890 30 13 24 PT1/4" M12x1.75P 20
#80 845 30 M39x1.5P 35 78 6128 | ©108 34 18 26 PT3/8" M14x2P 22
2100 855 35 M48x1.5P 45 80 { 8158 | @132 34 18 28 PT3/8" M18x2.5P 27
8125 855 40 M48 x1.5P 55 85 8188 | #159 39 18 28 PT1/2" M20 % 2,5P 30

915

www. TPCpage.co.kr



THCO A|2|=

030~0125

» 7|23 (SDE) LIAF S/W TYPE

A D + STROKE
G ‘ H J + STROKE | 2—M
=
_____ T 7
. [
B
W L; F7:ql—|k\ ol @&l ‘
s Ao D+ @ OLD)
o %LIJ“ &
©
2x4— N (TAP)
Zo|-P

% S/W Type(230~ ¢ 100) HIZIA| (D+AERT) X5 HAE +16 AEE (2125 0142 B9 2Y)
% S/W Type 125 014 HIZ 7ts 22 Y

» Dimension

(E9:mm)

830 818 25 M12x1.75P 15 69 868 853 64 27 10 32 PT1/4" M8x1.25P ‘ 15
840 822 10 M16x 2P 20 7 878 863 75 27 12 32 PT1/4" | M8x1.25P | 15
850 828 il M20 x 2,5P 24 75 888 873 84 27 13 35 PT1/4" M10x1.5P ‘ 18
863 835 13 M27 % 3P 33 82 8108 890 101 30 13 39 PT1/4"  M12x1.75P 20

280 845 17 M30x3.5P 33 93 6128 | ¢108 121 34 18 41 PT3/8" M14x2P 22
2100 855 25 M42 % 3P 45 95 8158 | @132 147 34 18 43 PT3/8" | M18x25P 27
8125 855 25 M42 x 3P 45 18 #6188 | @159 | 176.5 39 18 61 PT1/2" | M20x25P | 30

916




sor a8l wtg M2y THCO AJ2[X

030~0125

» 7123 (SDY) =LtAL S/W TYPE

@ A D + STROKE
G H J + STROKE | | 2-M
L~
] ]
**** T*__ | I
s ;E \ -
I & -
"'@" o i —————— — @
O f% [6 o]
a
&/
===
-
| ——
2x4— N (TAP)
Zol-p

% S/W Type( 30~ 100) MXA| (D+AEZT) X|5- HZE +15 ATEH (2125 0182 29 2F)
% S/W Type 2125 01 MZ 7ts 29 2

» Dimension

830 818 25 M16x1.5P 20
840 822 25 M20x1.,5P 20

69 868 853 64 27 10 32 PT1/4" | M8x1.25P 15
il 878 863 n5 27 12 32 PT1/4" | M8x1.25P 15
850 828 25 M24x1.5P 25 75 888 873 84 27 13 35 PT1/4" | M10x1.5P 18

| |
| |
863 835 30 M30x1,5P 35 } 82 8108 890 101 30 } 13 39 PT1/4" | M12x1.75P 20

280 845 30 M39x1.5P 35 93 8128 | ¢108 121 34 18 41 PT3/8" M14x2P 22
2100 855 35 M481.5P 45 95 8158 = @132 147 34 18 43 PT3/8" | M18x2.5P 27
8125 855 40 M48 x1.5P 55 118 #6188 = @159 | 176.5 39 18 61 PT1/2" | M20x2.5P 30

917

www. TPCpage.co.kr



THCO A|2|=

030~0125

> 7128 (SDE) Y2= TYPE

oE A D + STROKE A + STROKE
H J + STROKE H 2-M
L
R T
T | ____‘J_‘_"

b

> v

| __ I

4 —-—-

e eed

©
% S/W Type(2 30~ 100) MXA| (D+AEZT) X HAE +15 HEE (2125 0|42 29 2F)
x S/W Type @125 014 HI%t 7ks 29 @Y
» Dimension
LA 1

930 ?18 25 | M12x1.75P 15 72 %68 @ ©53 27 18 PT1/4" M8 x1.25P 15 A‘ 20 25 M16x15P
940 822 10 | MI6x2P | 20 | 72 | #78 963 27 | 18 PT1/4" M8x125P | 15 I’j\ 20 25 | M20x15P
950 28 1 M20 x2.5P 24 75 %88 @73 27 21 PT1/4" M10x1.5P 18 A}‘ 25 25 M24 x1,5P
963 | 835 | 13 | M27x3P | 33 | 82 | 4108 890 30 | 22 PTI/4" | MI2x175P @ 20 B} | 35 30 | M30x15P
980 645 17 | M30x3.5P 33 95 128 0108 | 34 27 PT3/8" M14x 2P 22 ?:H 35 30 | M39x15P
¢100| 855 25 M42 x 3P 45 100 ‘¢158 9132 34 32 PT3/8" M18 x2.5P 27 ‘ 45 35 M48x1.5P
9125 855 25 M42 x 3P 45 115 188  ©159 | 39 37 PT1/2" M20x2.5P 30 \ 55 40 M48x1.5P

918




sor a8l wtg M2y THCO AJ2[X

030~0125

> 7|2 (FAZ!) ZLIAF TYPE

o0 C A__F D + STROKE
op 4-Q H J + STROKE | 2-=M
Pt
T ] 1
sl 3

e

E/ I

1
T

i

I

I
El

trJ

=
[ ]

L
r
I
I
I
&

¥ S/W Type(930-0100) HIEN| (D+AE23) X4 W +15 A8 (0125 042 29 2F)
X S/W Type 0125 014§ X% 75 29| 22

» Dimension
(eretm)

M16x1.5P PTI/4" BT
940 M20x1.5P PT1/4" | e
850 M24x15P PTI/4" | 100 | 80 | oM
963 M30%1,5P PTI/4" | 120 | 96 } 14
280 M39x15P PT3/8" | 145 | 115 @18
2100 M48x1.5P PT3/8" | 180 @ 143 } 922
125 M48 x1.5P PTI2' | 210 | 170 | @24

919

www. TPCpage.co.kr



THCO A|2|=

030~0125

» 7|24 (FBY) £LIA} TYPE

C A D + STROKE F

H J + STROKE | 2-M

I T] U ] =
R Y
(. S Ry

L

oE

il

% S/W Type( 30~ 2 100) MEA| (D+AEZT) X HEF +15 A E (2125 0142 £9 2Y)
* S/W Type 2125 01 M 7ts 29 29

» Dimension

930 218 25 | MI6X15P | 20 54 968 B 27 10 17 PT1/4" 75 60 99
940 | 922 | 25 | M20x15P 20 56 878 15 } 27 { 12 17 PT1/4" 90 70 o1l
950 = 828 25 | M24x15P 25 60 288 18 27 13 20 PT1/4" 100 80 o1
963 | #35 | 30 | M30x15P | 35 67 108 18 30 13 24 PT1/4" 120 96 914
880 | 045 30 | M39x15P 35 78 2128 20 34 18 26 PT3/8" 145 115 | 018
g100 855 | 35 | M48x15P | 45 80 9158 24 34 18 28 PT3/8" 180 | 143 | 822
9125 | 855 40 | M48x15P 55 85 2188 26 39 18 28 PT1/2" 210 | 170 | 624

920




